
［1回戦／1月20日］ 1P 2P 3P 計
苫小牧工業 11 10 5 ＝ 26
岩手 0 0 0 ＝ 0

［1回戦／1月20日］ 1P 2P 3P 計
水戸短大附 1 2 4 ＝ 7
軽井沢 2 0 1 ＝ 3

［1回戦／1月20日］ 1P 2P 3P 計
東北 3 0 3 ＝ 6
八戸工業 1 0 1 ＝ 2

［1回戦／1月20日］ 1P 2P 3P 計
八戸工大第一 1 3 4 ＝ 8
江陵 2 1 1 ＝ 4

［1回戦／1月20日］ 1P 2P 3P 計
日光 1 3 5 ＝ 9
早稲田実業 0 0 0 ＝ 0

［1回戦／1月20日］ 1P 2P 3P 計
釧路湖陵 5 4 3 ＝ 12
渋川工業 0 0 0 ＝ 0

［1回戦／1月20日］ 1P 2P 3P 計
釧路工業 7 11 9 ＝ 27
慶應義塾 0 0 0 ＝ 0

［1回戦／1月20日］ 1P 2P 3P 計
今市 1 1 0 ＝ 2
愛知 0 0 0 ＝ 0

［1回戦／1月20日］ 1P 2P 3P 計
苫小牧南 1 1 1 ＝ 3
八戸商業 1 0 0 ＝ 1

［1回戦／1月20日］ 1P 2P 3P 計
明治大中野 4 5 2 ＝ 11
日大東北 1 1 1 ＝ 3
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［2回戦／1月21日］ 1P 2P 3P 計
明治大中野 1 4 5 ＝ 10
北富士工業 1 0 0 ＝ 1

［2回戦／1月21日］ 1P 2P 3P 計
苫小牧南 4 4 3 ＝ 11
埼玉栄 0 0 1 ＝ 1

［2回戦／1月21日］ 1P 2P 3P 計
釧路湖陵 1 9 4 ＝ 14
今市 0 0 0 ＝ 0

［2回戦／1月21日］ 1P 2P 3P 計
釧路工業 2 2 2 ＝ 6
日光 1 0 1 ＝ 2

［2回戦／1月21日］ 1P 2P 3P 計
八戸工大第一 1 1 0 ＝ 2
八戸西 0 0 0 ＝ 0

［2回戦／1月21日］ 1P 2P 3P 計
北海 2 2 4 ＝ 8
東北 0 0 1 ＝ 1

［2回戦／1月21日］ 1P 2P 3P 計
駒大苫小牧 5 3 3 ＝ 11
水戸短大附 1 0 1 ＝ 2

［2回戦／1月21日］ 1P 2P 3P 計
釧路江南 0 2 5 ＝ 7
苫小牧工業 0 0 0 ＝ 0

［準々決勝／1月22日］ 1P 2P 3P 計
釧路江南 4 5 2 ＝ 11
北海 0 3 0 ＝ 3

［準々決勝／1月22日］ 1P 2P 3P 計
釧路工業 0 0 7 ＝ 7
苫小牧南 2 2 2 ＝ 6

［準々決勝／1月22日］ 1P 2P 3P 計
駒大苫小牧 2 4 3 ＝ 9
八戸工大第一 0 0 0 ＝ 0



［準々決勝／1月22日］ 1P 2P 3P 計
釧路湖陵 3 6 4 ＝ 13
明治大中野 0 1 0 ＝ 1

［準決勝／1月22日］ 1P 2P 3P 計
釧路江南 2 3 3 ＝ 8
釧路工業 0 1 2 ＝ 3

［準決勝／1月22日］ 1P 2P 3P 計
駒大苫小牧 1 4 2 ＝ 7
釧路湖陵 0 0 0 ＝ 0

［決勝／1月23日］ 1P 2P 3P 計
駒大苫小牧 1 0 3 ＝ 4
釧路江南 1 0 2 ＝ 3




